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@® 2km? = 20000a @ 6ha = 60000 m”
@)40km? = 400ha @ 500ha = 5km?

® 70000m? = 7ha

® 40km? = 4000 ha




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?

~&B

T 22 9= 1A v gy
D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
@®>0>0>0>0




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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